
 

  
    Weight (Kg ) 

Quant. Description Unit Extended 

  INSTALLATION   47,118  

    FRAMES   18,663  

146    FRAM.101          900X 110CM.       101.77  14,858.13  

17    FRAM.101         1100X 110CM.       123.74  2,103.58  

13    FRAM.122          900X 110CM.       130.90  1,701.65  

    BEAMS   28,092  

1018    BEAMS     2C-S 1515    360CM.       23.41  23,829.34  

196    BEAMS     2C-S 1115    270CM.       15.10  2,959.60  

60    BEAMS     2C-S 1315    360CM.       21.72  1,303.02  

    ACCESSORIES   363  

219    ST.UNION FRAM.96            030CM   0.62  136.22  

578    ANCHOR BOLTS MKD M12X 30            0.08  48.55  

326    SHIMSGC 100 E= 3                    0.43  140.18  

163    SHIMSGC 100 E= 1                    0.14  23.31  

26    SHIMSGC 120 E= 3                    0.48  12.61  

13    SHIMSGC 120 E= 1                    0.16  2.11  

  VERTICAL CROSS BRACING   692  

64  ST.C.BRAC.UNIONS P100 150           4.93  315.65  

56  TENSIONERS C.BRACING CV             0.75  41.83  

32  HANDRAIL C.BRA.40X3,5  376CM.       4.13  132.22  

24  VL-HANDRAIL C.BRA.40X3,5 3856MM.    4.24  101.69  

32  ST.ARMS UNION CROSS BRAC.99         0.78  24.80  

9  ST.C.BRAC.UNIONS P100 100           4.16  37.44  

224  BOLTS M12X 30 D933 8.8 B T.2A       0.07  14.78  

4  CROSS BRAC. C-418     3563MM.       4.58  18.32  

1  ST.C.BRAC.UNIONS P120 100           4.44  4.44  

16  BOLTS M 8X 30 D933 8.8 B TE1A       0.02  0.35  



  HORIZONTAL CROSS BRACING   420  

100  CROSS BRAC. C-415     3649MM.       3.91  390.90  

200  BRACKETS CROSS BRACING HORIZ. D 97  0.07  14.60  

147  BOLTS M 8X 90 D931 8.8 B TE1A       0.05  6.91  

147  SEPARATORS  CROS.FRAM.      70MM.   0.03  3.67  

200  BOLTS M 8X 20 D933 8.8 B TE1A       0.02  4.00  

3  SEPARATORS  CROS.FRAM.      90MM.   0.04  0.12  

3  BOLTS M 8X110 D931 8.8 B TE1A       0.06  0.17  

  GUARD MESH   3,184  

207  SHELF SEAL MESH AML  2200X1200      11.10  2,297.91  

29  SHELF SEAL MESH AMLC 1100X1200      6.23  180.58  

187  ST.CONNECTOR MRL 198            E09 1.64  306.87  

21  SHELF SEAL MESH AML  2200X 600      7.48  157.08  

37  ST.PROFILE ANGLE 1200               1.98  73.19  

22  ST.PROFILE ANGLE 2200               3.63  79.77  

1550  CJ.TORNILLOS CT CA   615            0.01  12.40  

5  SHELF SEAL MESH AMLC 1100X 600      4.08  20.38  

2  SHELF SEAL MESH AMLC 1100X1000      5.51  11.02  

47  ST.UNION SPLICE RG                  0.28  13.35  

14  ST.CONNECTO MRL 148             E09 1.09  15.30  

1  SHELF SEAL MESH AML  2200X1000      9.89  9.89  

5  ST.PROFILE ANGLE  600               0.99  4.95  

1  ST.PROFILE ANGLE 1000               1.65  1.65  

  PROTECTORS / REINFORCES   849  

129  PROTECTORS UPR-FRAME 400 S-100 W/A  5.92  763.29  

12  PROTECTORS UPR-FRAME 400 S-120 W/A  7.14  85.68  

  PROTECTORS / REINFORCES   599  

34  PROTECTORS UPR-FRAME 400 S-100 W/A  5.92  201.18  

17  PROFILES MPL 925       235CM.       10.84  184.23  

17  ST.PROTECTORS FOOT INTER.UPN E57    5.77  98.14  



4  ST.PROTEC.FRAM.SIM.110 U-100        17.68  70.71  

1  ST.PROTEC.FRAM.SIM.110 U-120        20.12  20.12  

34  CONNECTOR M92 E09                   0.56  19.11  

68  CJ.TORNILLOS CT AB  1025            0.05  3.20  

34  CJ.TORNILLOS CT AB  1230            0.07  2.55  

  TUNNEL BAY   262  

22  WIRE MESH SHELVES  1340X1100 4T     8.85  194.74  

11  WIRE MESH SHELVES  880X1100 3T      6.14  67.59  

 

 

122 BEAMS     2C-S 1515    360CM.       

16 BEAMS     TB-S 120     270CM.       

 

 

 

 


